Ichchhanath, Surat-395007 (Gujarat), India

	1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester Student Name Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH322 T							
Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Reg- Earn- SGPA CGPA Number Credit Credit	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
Semester: 6 TUTHIKA MAHESH ANIL						4.0		ΔD							
U19CH001   24.00   24.00   9.71   9.22	AA	AA	AA	AA	AA	AB	AA	AB							
Semester Student Name Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH368 T	CH322 T							
Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Reg- Earn- SGPA CGPA Number Credit Credit	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	WASTE TO ENERGY CONVERSIO N (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
Semester: 6 NAIK YUTIKA NIRALKUMAR	AB	AB	AA	AA	AA	BB	AB	AB							
U19CH002   24.00   24.00   9.08   9.12															
Semester: 6 GOHEL HIMIL GIRISHKUMAR  U19CH004   24.00   24.00   8.17   9.00	BB	BB	AB	AB	AB	СС	AB	АВ							
Semester Student Name Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	HU362 T	CH322 T							
Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Reg- Earn- SGPA CGPA Number Credit Credit	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PERSONNEL MANAGEME NT (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
Semester: 6 VIJAY PRATAP SINGH  U19CH005   24.00   24.00   8.25   8.70	ВВ	AA	ВВ	BB	ВС	ВС	ВВ	AB							
U19CH005         24.00         24.00         8.25         8.70           Semester         Student Name         Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH322 T							
Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Reg- Earn- SGPA CGPA Number Credit Credit	PROFESSIO	INSTRUMEN	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	POLYMER ENGINEERI							
Semester: 6 HAJARIWALA OM SANDEEPKUMAR  U19CH006   24.00   24.00   9.25   9.34	AB	AA	AB	AA	AA	AB	BB	AB							
Semester :         6 RANA JAY SHIRISHKUMAR           U19CH007         24.00         24.00         8.96         9.12	ВВ	AB	AA	AA	AA	AB	BB	AB							

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III SIXTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING APRIL/MAY 2022

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	ME376 T	CH324 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	MATERIALS MANAGEME NT (EIS-II)	UNIT PROCESSES (CS-II)							
Semester :	6 CHAUHAN VIVEK JAGDIS	SHKUMAR								_							BACKLOG:
U19CH008	24.00   20.00	5.79 7.33	BB	BC	AB	FF	ВС	CC	CC	BC							4 CREDIT(S)
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH322 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
Semester : U19CH009	6 KAVATHIYA VIVEKKUMAI HASMUKHBHAI   24.00   24.00		BB	AB	АВ	ВВ	ВВ	ВВ	ВС	ВВ							
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	ME376 T	CH324 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	MATERIALS MANAGEME NT (EIS-II)	UNIT PROCESSES (CS-II)							
Semester :	6 PUSHPENDRA SINGH RA	JORIYA															
U19CH010	24.00   24.00	7.63 7.56	BB	ВС	AB	BB	AB	ВС	BB	BC							
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	HU362 T	CH322 T							
Admission Number	Reg- Earn- Credit Credit	Credit SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	4.00 INSTRUMEN TATION AND PROCESS CONTROL	I.00 INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	3.00 PERSONNEL MANAGEME NT (EIS-II)	3.00 POLYMER ENGINEERI NG (CS-II)							
Semester : U19CH011	6 JAYESH PANDEY	9.46   9.16	AA	AA	AB	AA	AA	ВС	AA	AA							
Semester : U19CH012	6 KUSHAGRA GUPTA  24.00   24.00	9.00   9.03	AB	AB	АВ	АВ	AA	ВВ	AA	АВ							

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III SIXTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING APRIL/MAY 2022

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	MA362 T	CH324 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	INTEGRAL AND WAVELET TRANSFORM (EIS-II)	UNIT PROCESSES (CS-II)							
Semester :	6 PRIYANSH TANWAR			00	-	00		0.0		DD							BACKLOG:
U19CH013	3   24.00   21.00	5.96   6.84	BB	CC	BB	CC	BC	CC	FF	BB							CREDIT(S)
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CE376 T	CH324 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	WASTE TO ENERGY TECHNOLO GY (EIS-II)	UNIT PROCESSES (CS-II)							
Semester :	6 VERMA APRAJITA SWATAI	NTRAKUMAR	D.C.	DD	AD	AB	^^	DD	BC	ВС							
U19CH014	24.00   24.00	7.88 7.43	BC	BB	AB	AD	AA	BB	ВС	ВС							
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH324 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	UNIT PROCESSES (CS-II)							
Semester :	6 VISHESH KUMAR UDESAN	NG PARMAR															
U19CH015	5   24.00   24.00	7.58   7.86	BB	BB	AB	AB	AA	CC	CD	BB							
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH322 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
Semester : U19CH016	6 CHASHMAWALA PRACHI 7  24.00   24.00		AB	AA	AB	AA	AA	AB	ВС	AB							

Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	ME376 T	CH324 T	<u>-</u>				-		
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission	Reg- Earn-	SGPA CGPA	PROFESSIO		INSTRUMEN	PROCESS	PROCESS	PROCESS	MATERIALS	UNIT							
Number	Credit Credit		NAL ETHICS,	TATION AND PROCESS	TATION AND PROCESS	EQUIPMENT DESIGN	EQUIPMENT DESIGN	MODELLING AND	MANAGEME NT (EIS-II)	PROCESSES (CS-II)							
			ECONOMIC	CONTROL	CONTROL	AND	AND	SIMULATION		(65 11)							
			S &		(PRAC.)	DRAWING	DRAWING	S									
			MANAGEME NT				(PRAC.)										
Semester :	6 AMAN KUMAR MAHICH									DD.						ВАС	CKLOG:
U19CH017	7   24.00   16.00	5.00   7.11	BC	FF	AB	ВС	AA	FF	BC	BB						8 CRE	EDIT(S)
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH322 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission	Reg- Earn-		PROFESSIO		-	PROCESS	PROCESS	PROCESS	PETROLEUM	POLYMER							
Number	Credit Credit	SGPA CGPA	NAL	TATION AND	TATION AND	EQUIPMENT	EQUIPMENT	MODELLING	REFINERY	ENGINEERI							
			ETHICS, ECONOMIC	PROCESS CONTROL	PROCESS CONTROL	DESIGN AND	DESIGN AND	AND	ENGINEERI NG (EIS-II)								
			S &	CONTROL	(PRAC.)	DRAWING	DRAWING	S	NG (LIS-II)								
			MANAGEME				(PRAC.)										
Semester :	6 SHAH VRUND BHAVESHKU	JMAR	NT														
			AB	AB	AB	AB	AA	BB	BB	BB							
U19CH018		•															
Semester:	6 PATEL JEET KIRANKUMAR		AA	AA	AA	AA	AA	AA	AA	AA							
U19CH019		10.00 9.30															
Semester :	6 CHANDAKA NITISH		AA	AA	AB	AA	AA	AB	AB	AA							
U19CH020	24.00   24.00	9.67 9.33	700	/ / / /	,,,,	, , , ,	/ / / /	/ 1.5	, , ,								
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH368 T	CH322 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission	Reg- Earn-	SGPA CGPA	PROFESSIO		INSTRUMEN	PROCESS	PROCESS	PROCESS	WASTE TO	POLYMER							
Number	Credit Credit		NAL ETHICS,	TATION AND PROCESS	TATION AND PROCESS	EQUIPMENT DESIGN	EQUIPMENT DESIGN	MODELLING AND	ENERGY CONVERSIO	NG (CS-II)							
			ECONOMIC	CONTROL	CONTROL	AND	AND	SIMULATION		(33 33)							
			S & MANAGEME		(PRAC.)	DRAWING	DRAWING (PRAC.)	S									
			MANAGEME NT				(FNAC.)										
Semester :	6 PATEL BHARVI PARULKUM	AR	<b>A.D.</b>	A.D.	۸۵	^ ^	^ ^	DD	^ ^	AB							
U19CH021	24.00   24.00	9.17   8.90	AB	AB	AB	AA	AA	BB	AA	AD							
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	HU362 T	CH322 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission	Reg- Earn-	SGPA CGPA	PROFESSIO	INSTRUMEN	INSTRUMEN	PROCESS	PROCESS	PROCESS	PERSONNEL	POLYMER							
Number	Credit Credit	JULY COLA	NAL	TATION AND		EQUIPMENT	EQUIPMENT	MODELLING	MANAGEME								
			ETHICS, ECONOMIC	PROCESS CONTROL	PROCESS CONTROL	DESIGN AND	DESIGN AND	AND SIMULATION	NT (EIS-II)	NG (CS-II)							
			S &		(PRAC.)	DRAWING	DRAWING	S									
			MANAGEME NT				(PRAC.)										
Semester :	6 PARTHIK SOJITRA																
Пиосном	1 2400   2400	0.62   0.22	AA	AA	AA	AA	AB	BB	AA	AA							
U19CH022	2 24.00 24.00	9.32	I		1	L									L		

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III SIXTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING APRIL/MAY 2022

				1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name		Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH324 T	,			12	13		11011101111
Semester	ocadene manie	C	Credit								3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA		PROFESSIO NAL ETHICS, ECONOMIC S &	4.00 INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS MODELLING AND SIMULATION S	3.00 PETROLEUM REFINERY ENGINEERI NG (EIS-II)	UNIT PROCESSES (CS-II)							
				MANAGEME NT		(TICAC.)	DIAWING	(PRAC.)	3									
Semester:	6 BHUMIKA SHARMA			AA	AA	AB	AA	AA	BB	BB	AB						'	
U19CH024	24.00   24.00	9.25	8.97			70		_ ^_			,							
Semester	Student Name	•	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CE376 T	CH324 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission	Reg- Earn-	SGPA	CGPA	PROFESSIO	INSTRUMEN	INSTRUMEN	PROCESS	PROCESS	PROCESS	WASTE TO	UNIT							
Number	Credit Credit	SGPA	CGPA	NAL			EQUIPMENT	EQUIPMENT	MODELLING	ENERGY	PROCESSES							
				ETHICS, ECONOMIC	PROCESS CONTROL	PROCESS CONTROL	DESIGN AND	DESIGN AND	AND SIMILATION	TECHNOLO GY (EIS-II)	(CS-II)							
				S &	COMMOL	(PRAC.)	DRAWING	DRAWING	S	G1 (L13-11)								
				MANAGEME				(PRAC.)										
Semester: 6	6 GAMIT MAYUSHIKUMAR	I SHAILES	SHRHAT	NT														
U19CH025		_	_	BB	BB	AB	AB	AB	ВС	ВС	BC							
Semester	Student Name	C	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH324 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	PROFESSIO  NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	UNIT PROCESSES (CS-II)							
Semester:	6 AASTHA GUPTA										DD.							
U19CH026	24.00   24.00	8.08	8.81	BB	AB	AB	BB	AB	BC	BB	BB							
Semester	Student Name	•	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH368 T	CH324 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission	Reg- Earn-	SCDA	CGPA	PROFESSIO	INSTRUMEN	INSTRUMEN	PROCESS	PROCESS	PROCESS	WASTE TO	UNIT							
Number	Credit Credit	SGPA	CGPA	NAL		TATION AND	EQUIPMENT	EQUIPMENT	MODELLING	ENERGY	PROCESSES							
				ETHICS, ECONOMIC	PROCESS CONTROL	PROCESS CONTROL	DESIGN AND	DESIGN AND	AND SIMULATION	CONVERSIO N (EIS-II)	(CS-II)							
				S &		(PRAC.)	DRAWING	DRAWING	S	11 (213 11)								
				MANAGEME NT				(PRAC.)										
Semester:	6 VAIBHAV GUPTA																	
U19CH027	24.00   24.00	7.96	7.92	AB	BB	BB	BB	BB	CC	AB	BB							

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III SIXTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING APRIL/MAY 2022

				1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name		Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH322 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA		PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN	INSTRUMEN	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
Semester :	6 UJJWAL SHARMA										DD.							
U19CH028	3   24.00   24.00	0.25	8.89	AB	AA	AB	AA	AA	AB	AB	BB							
Semester	Student Name	•	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	HU362 T	CH322 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN	INSTRUMEN	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PERSONNEL MANAGEME NT (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
Semester :	6 PRIYAM JAIN			INI														
U19CH029		9.08	8.99	AA	AB	AB	AB	BB	BB	AA	AB							
Semester	Student Name	•	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH322 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
Semester :	6 SHETH PRASHAM HEMA	ANT																
U19CH030	24.00   24.00	Q 54	8.72	AB	BB	AB	AA	BB	BB	BC	AB							
Semester	Student Name	-	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH368 T	CH322 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission	Reg- Earn-	SGPA	CGPA	PROFESSIO	INSTRUMEN	INSTRUMEN	PROCESS	PROCESS	PROCESS	WASTE TO	POLYMER							
Number	Credit Credit	JGFA	COLA	NAL ETHICS, ECONOMIC S & MANAGEME NT	TATION AND PROCESS CONTROL	TATION AND PROCESS CONTROL (PRAC.)	EQUIPMENT DESIGN AND DRAWING	EQUIPMENT DESIGN AND DRAWING (PRAC.)	MODELLING AND SIMULATION S	ENERGY CONVERSIO	ENGINEERI NG (CS-II)							
Semester:	6 SOLANKI YUVRAJ JAYE	SHBHAI		AB	AB	AB	AB	AB	BB	AA	BB							
U19CH031	24.00   24.00	8.83	8.56	,\0	, (0	, \0	, (5	,,,,		/ //								

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III SIXTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING APRIL/MAY 2022

				1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	(	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	ME376 T	CH324 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00						I	
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	MATERIALS MANAGEME NT (EIS-II)	UNIT PROCESSES (CS-II)							
Semester :	6 VAIBHAV KARTHIKEYAN	1		DO	00	DD	DC.	DD	NIA	DD	ВС						1	BACKLOG:
U19CH032	24.00   20.00	5.88	7.04	BC	CC	BB	BC	BB	NA	BB	ВС						I	CREDIT(S)
Semester	Student Name	-	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH322 T						I	
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00						1	
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
Semester :	6 DURVISH KUMAR GAUT	AM															 	
U19CH033	3   24.00   24.00	8.75	8.96	AB	AB	AB	AA	AB	BB	BB	BB						I	
Semester	Student Name	•	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH324 T						·	
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00						I	
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	UNIT PROCESSES (CS-II)							
Semester :	6 SHUBHAM REGAR										D0							
U19CH034	24.00   24.00	7.67	8.09	BB	AB	AB	BB	BB	BC	CC	BC						1	
Semester	Student Name	•	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH368 T	CH322 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	WASTE TO ENERGY CONVERSIO	POLYMER ENGINEERI							
Semester : U19CH035	6 SHIVASHREE ASTHANA  24.00   24.00		8.88	АВ	ВВ	АВ	AB	АВ	ВВ	AA	АВ							

Ichchhanath, Surat-395007 (Gujarat), India

			П												+		
		·	1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CE376 T	CH324 T	1						1
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00		T	T	T	T .		
Admission	Reg- Earn-	SGPA CGPA	PROFESSIO	INSTRUMEN	INSTRUMEN		PROCESS	PROCESS	WASTE TO	UNIT					1		
Number	Credit Credit	SGPA CGPA	NAL		TATION AND					PROCESSES	1					1	1
		'	ETHICS,	PROCESS	PROCESS	DESIGN	DESIGN	AND	TECHNOLO		1					1	1
		,	ECONOMIC	CONTROL	CONTROL	AND	AND		GY (EIS-II)	1	1				!	1	1
		,	S &		(PRAC.)	DRAWING		S		1	1				!	1	1
		,	MANAGEME NT		'		(PRAC.)				1					1	1
Semester :	6 PATEL MEETKUMAR HITE	′ ŒSHRHΔĬ	TN I	+	+	+	+	+	1	+		+	+	+	+		
			ВВ	AB	BB	BB	BB	ВС	BB	BB	1				'	1	1
U19CH036	24.00 24.00	8.00 7.17	4						1	<u> </u>					<u> </u>		+
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH322 T	1						
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00		<u></u>		<u></u>	!		
Admission	Reg- Earn-	SGPA CGPA	PROFESSIO	INSTRUMEN	N INSTRUMEN		PROCESS	PROCESS	PETROLEUM	POLYMER					1		
Number	Credit Credit	SUFA CUIA ,	III		TATION AND					ENGINEERI	1					1	1
		,	ETHICS,	PROCESS	PROCESS	DESIGN	DESIGN	AND	ENGINEERI		1				!	1	1
		,	ECONOMIC	CONTROL	CONTROL	AND	AND		NG (EIS-II)		1					1	1
		,	S &	_	(PRAC.)	DRAWING		S		1	1				!	1	1
		,	MANAGEME NT		'		(PRAC.)	'			1					1	1
Semester :	6 AGRAWAL CHIRAG BHAR	 ARATKUMAR	141		†			†		+		+		+	†		
			AB	AA	AB	BB	BB	CC	BB	BC	1				'	1	1
U19CH037			#	+	+	+	+	+	+		<del> </del>	+		+	<u> </u>	+	<del>                                     </del>
Semester :	6 CHEEPURUPALLI LOHIT	,	AB	AB	AB	AB	BB	ВС	BB	ВВ	1				!	1	1
U19CH038	8   24.00   24.00	8.38 8.45		70	\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \	75	1 20				1					1	1
	6 AYUSH BIYANI	0.50 0.45	1	+	+	+	+	+	<del>                                     </del>	+		+	+		+		
Semester .	3 ATOSTI DITANI	,	AB	AB	AB	AB	ВВ	ВВ	AB	AB	1				!	1	1
U19CH039	9 24.00 24.00	8.79 9.04								l l						1	1
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH368 T	CH322 T					!		
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00		T		T			1
Admission	Reg- Earn-	CCDA CCDA	PROFESSIO	INSTRUMEN	N INSTRUMEN	PROCESS	PROCESS	PROCESS	WASTE TO	POLYMER					1		1
Number	Credit Credit	SGPA CGPA	NAL							ENGINEERI	1					1	1
		,	ETHICS,	PROCESS	PROCESS	DESIGN	DESIGN	AND	CONVERSIO	NG (CS-II)	1					1	1
		,	ECONOMIC	CONTROL	CONTROL	AND	AND	SIMULATION	N (EIS-II)	1	1				!	1	1
		,	S &		(PRAC.)	DRAWING		S		1	1				!	1	1
		,	MANAGEME NT		'		(PRAC.)				1				'	1	1
Semester :	6 BHAVSAR KEVIN HIMANS	NSHUKUMAR	INI		+	+	+	+		+		+	+	+	+		
			BB	AB	AB	BB	BB	ВС	AB	BB	1				'	1	1
U19CH040		-	4						1	<u> </u>	<b></b>				<u> </u>		+
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	HU362 T	CH322 T	1				<u> </u>		
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00				<u></u>			
Admission	Reg- Earn-	SGPA CGPA	PROFESSIO		N INSTRUMEN		PROCESS		PERSONNEL						-		1
Number	Credit Credit	JUFA COIT.	II	TATION AND	TATION AND	EQUIPMENT		MODELLING	MANAGEME	ENGINEERI	1				!	1	1
		į	ETHICS,	PROCESS	PROCESS	DESIGN	DESIGN	AND	NT (EIS-II)	NG (CS-II)	1				!	1	1
		į	ECONOMIC	CONTROL	CONTROL	AND	AND	SIMULATION		ı	1				!	1	1
		,	S &	_	(PRAC.)	DRAWING		S		1	1				!	1	1
		,	MANAGEME NT		'		(PRAC.)				1				'	1	
Semester :	6 RONAK ASNANI		17.		†		+	+	<u> </u>	+		+		+	+		1
			AB	AA	AB	BB	AB	ВС	AB	BB	1				'	1	1
U19CH041	<del></del>	8.54 8.79	4						1	<u> </u>	<b></b>				<u> </u>		+
Semester :	6 BETWAR TEJAS SANJAYR	RAO '	AB	AB	BB	ВВ	BB	ВС	AB	ВС	1				'	1	1
U19CH042	)   24.00   24.00	8.17 8.42	Ab	AD	DD	ВР	DD	BC	AD		1				'	1	1
01001101.		1 0.17   0.12	4		<del></del>			<del></del>	1							<del> </del>	

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III SIXTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING APRIL/MAY 2022

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	ME374 T	CH324 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	RISK, RELIABILITY AND LIFE TESTING (EIS-II)	UNIT PROCESSES (CS-II)							
Semester :	6 TORADMAL SHIVANI SAI	DASHIV		00	DD	DC.	DD	00		ВС							BACKLOG:
U19CH04	3   24.00   21.00	5.71   7.50	CC	CC	BB	ВС	BB	CC	FF	ВС							CREDIT(S)
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH324 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	UNIT PROCESSES (CS-II)							
Semester :	6 ASHUTOSH DEVASI			4.0	AD		4.0	4.0	DD.	A D							
U19CH04	4   24.00   24.00	9.04   8.72	AB	AB	AB	AA	AB	AB	BB	AB							
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH322 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
Semester :	6 NISARG PRATIKKUMAR S	БНАН		DD.	4.0	DD	4.0	DD	DD.	DD							
U19CH04	5   24.00   24.00	8.25   8.36	AB	BB	AB	BB	AB	BB	BB	BB							
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CE376 T	CH324 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	WASTE TO ENERGY TECHNOLO GY (EIS-II)	UNIT PROCESSES (CS-II)							
Semester : U19CH04	6 RAWAL ABHAYKUMAR NA		ВС	ВС	ВВ	BB	АВ	ВС	FF	ВС							BACKLOG: 3 CREDIT(S)

Ichchhanath, Surat-395007 (Gujarat), India

Section   Student Name				1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Activation   Rep   Fem   Supplement   Court	Semester	Student Name	Course Code			1			-	ļ			10		12	15	11	Remark
Montanger   Part   Pa								1 00			3 00							
Multiple   Check   C	Admission	Reg- Earn-																
Semester   6.54LPA MINSOOR    1.00   6.46   7.59   1.00   6.46   7.59   1.00   6.46   7.59   1.00   6.46   7.59   1.00   6.46   7.59   1.00   6.46   7.59   1.00   6.46   7.59   1.00   6.46   7.59   1.00   6.46   7.59   1.00   6.46   7.59   1.00   6.46   7.59   1.00   6.46   7.59   1.00   6.46   7.59   1.00   6.40   7.50   6.40   7.50   6.40   7.50   6.40   7.50   6.40   7.50		_	SGPA CGPA															
Semester											(CS-II)							
MANAGER   MANA					CONTROL	1				NG (EIS-II)								
Semester   6.5KUIMA MANSCORI   12.00   12.00   6.45   7.59   15.00   10.00						(PRAC.)	DRAWING		5									
VISCHIOLT   24-06   21-06   6-46   7-59								(11010.)										
Semester   Sudent Name   Course Cord   Family   Sudent Name   Course Cord   Family   Control   Cord   Cor	Semester :	6 SALIHA MANSOORI		DD	DD.	DD	00	D0	D0		DD							BACKLOG:
Semester   Student Name	U19CH047	24.00   21.00	6.46 7.59	BB	BB	BB		BC	BC	FF	DD							CREDIT(S)
Marindadan   Right   Early   Credit			• •	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH322 T							
Admission Number			Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Number   Credit   C	Admission	Reg- Earn-	SCDA CCDA			<u> </u>				PETROLEUM	POLYMER							
CONTROL   S	Number		JUFA CUPA	NAL	TATION AND	TATION AND	EQUIPMENT	EQUIPMENT	MODELLING	REFINERY								
Semester   G PARSHITA SINGH											NG (CS-II)							
MANACEME   NIT					CONTROL	1				NG (EIS-II)								
Semester: 6 HARSHITA SINCH  U19CH048						(11010.)	DidWille											
U19CH048																		
U19CH048	Semester :	6 HARSHITA SINGH		A D	DD	A D	DD	DC.	DC.	DC.	BR							
Semester   6 POTHURAJU SRIGOWTHAM   AB	U19CH048	24.00   24.00	7.88   8.14	AB	ВВ	AB	DD	ВС	ВС	BC								
VigCh049																		
Semester   Student Name				AB	AB	AB	AB	AB	BB	BB	AB							
Admission Reg Earn- Number Credit Credit SGPA CGPA  Admission Reg Earn- Number Credit Credit Credit Credit SGPA CGPA  Mal ETHICS, ECONOMIC S & MANAGEME NT ATTON AND PROCESS ECONOMIC S & MANAGEME NT CREDIT	U19CH049		8.71 8.71															
Admission Number	Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	ME366 T	CH322 T							
Number   Credit   Credit   Signar   Circum   C			Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
All In And   All		_	SGPA CGPA	PROFESSIO						PRODUCT								
ECONOMIC   S & MANAGEME   NT   SIMULATION   S   NT   ETILICS   ECONOMIC   S & MANB   SIMULATION   S   NT   ETILICS   ECONOMIC   S & MANB   SIMULATION   S   NT   ETILICS   ECONOMIC   S & MANB   SIMULATION   S   NT   ETILICS   S   NT   ETILICS   ECONOMIC   S & MANB   SIMULATION   S   NT   ETILICS   S   NT   ETILICS   ECONOMIC   S & MANB   SIMULATION   S   SIMULATION   S   NT   ETILICS   S   S   NT   ETILICS   S   S   S   NT   ETILICS   S   S   S   NT   ETILICS   S   S   S   S   S   S   S   S   S	Number	Credit Credit	00.71															
Semester						1					NG (CS-II)							
MANAGEME   NT					CONTROL													
Semester   6 ADITYA SRIDHAR   BB   CC   BC   CC   AB   BB   CC   BC   CC   AB   BB   CC   BC   CH304 P						` ′												
Semester   Student Name   Course Code   HU302 T   CH302 P   CH304 T   CH304 P   CH306 T   ME362 T   CH324 T	_			NT														
Value   Valu	Semester :	6 ADITYA SRIDHAR		RR	CC	BC:	CC	ΔR	RR	CC	BB							
Admission Reg Earn- Credit Credit Credit Credit Credit Credit Credit Credit Credit SGPA CGPA  Admission Number Credit Cre	U19CH050	24.00   24.00	7.08 7.94					/\D										
Admission Number Credit Credit SGPA CGPA	Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	ME362 T	CH324 T							
Number Credit Credit SGPA CGPA  NAL ETHICS, ECONOMIC S & MANAGEME NT  NT  AB  AB  AA  AB  AB  AB  AB  AA  AB			Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
NAL TATION AND TATION		Reg- Earn-	SGPA CGPA	PROFESSIO														
ECONOMIC   CONTROL   S &   (PRAC.)   DRAWING   CONTROL	Number	Credit Credit	33171 33171															
S & MANAGEME NT DRAWING CPRAC.)  Semester: 6 FENIL PARMAR  AB AA AB AA BB AA AA  BB AA AA  AB AA AA  BB AA AA											(CS-II)							
MANAGEME   NT					CONTROL													
Semester: 6 FENIL PARMAR  AB AA AB AA BB AA AA  BB AA AA						(												
AB				NT														
	Semester :	6 FENIL PARMAR		AB	AA	AR	AA	ДД	BR	ДД	AA							
	U19CH051	24.00   24.00	9.46 8.12		'''	,		'''										

Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH322 T	-						
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
Semester :	6 PATEL KAPILKUMAR SUKI	HDEVBHAI	A D		A.D.		A A		A.D.	ΛΛ							
U19CH052	24.00   24.00	9.67   9.59	AB	AA	AB	AA	AA	AA	AB	AA							
	6 YASH DHANANJAY THAKI	(AR	ВС	ВВ	BB	ВС	ВВ	ВС	FF	ВС							BACKLOG: 3 CREDIT(S)
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	EE362 T	CH324 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	INDUSTRIAL AUTOMATIO N AND PROCESS CONTROL (EIS-II)	UNIT PROCESSES (CS-II)							
Semester :	6 BANOTH JEGJEEVAN				50		200	0.0		CD							BACKLOG:
U19CH054	24.00   13.00	3.08   6.61	CC	FF	BC	FF	BB	CD	FF	CD							CREDIT(S)
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH322 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
Semester :	6 SANJAY KUMAR		BB	ΛD	ΛD	BB	ΛD	DD	DD	BB							
U19CH055	24.00   24.00	8.25   8.21	ВВ	AB	AB		AB	BB	BB								
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	ME362 T	CH324 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL		PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	NG (EIS-II)	UNIT PROCESSES (CS-II)							
Semester :	6 BHUKYA RAJ KUMAR		BC	E.E.	DC.	ВС	DD.	00	DD	ВС							BACKLOG:
U19CH056	24.00   20.00	5.83 7.02	ВС	FF	ВС	ВС	BB	CC	BB								CREDIT(S)

Ichchhanath, Surat-395007 (Gujarat), India

		1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH324 T							
	Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Reg- Earn- Number Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	UNIT PROCESSES (CS-II)							
Semester: 6 SAURABH VATS		AB	AB	AB	ВВ	AB	ВС	BB	ВВ							
U19CH057   24.00   24.00	8.25 8.46															
Semester: 6 ANSHI JAIN  U19CH058   24.00   24.00	9.33   8.88	AA	AB	AB	AA	AA	ВВ	AA	AB							
Semester Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH322 T							
	Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Reg- Earn- Number Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
Semester : 6 PANDYA DEV KETANKUMAF  U19CH059   24.00   24.00		ВВ	AB	AA	AA	AA	ВС	ВС	ВВ							
Semester : 6 VAIDEHI DEVMURARI  U19CH060   24.00   24.00	8.79   8.24	АВ	ВВ	ВВ	АВ	AA	ВВ	AA	АВ							
Semester : 6 REDDY SANTOSH SAGAR A  U19CH061   24.00   21.00		ВВ	ВС	ВВ	ВВ	ВВ	CD	FF	ВВ							BACKLOG: 3 CREDIT(S)
Semester Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	EC364 T	CH324 T							
	Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Number Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT		INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	COMPUTER VISION (EIS-II)	UNIT PROCESSES (CS-II)							
Semester : 6 MEHTA HEER  U19CH062   24.00   24.00	7.63 7.60	BB	ВС	BB	ВВ	AA	ВС	ВС	ВВ							

Ichchhanath, Surat-395007 (Gujarat), India

	1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester Student Name Course Co	de HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH368 T	CH324 T							
Cre	dit <b>4.00</b>	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Reg- Earn- SGPA CGPA Number Credit Credit	PROFESSIC NAL ETHICS, ECONOMIC S & MANAGEME NT	TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	WASTE TO ENERGY CONVERSIO N (EIS-II)	UNIT PROCESSES (CS-II)							
Semester: 6 MAHEK SARVANI								N. A.							BACKLOG:
U19CH063   24.00   0.00   0.00   8.50	NA	NA	NA	NA	NA	NA	NA	NA							CREDIT(S)
Semester: 6 AMANDEEP SINGH  U19CH064   24.00   24.00   8.04   8.01	ВВ	AB	AB	ВВ	ВВ	ВС	AB	ВС							
Semester: 6 BRIJESH SAINI  U19CH065   24.00   24.00   8.17   8.15	AB	AB	BB	ВВ	ВВ	ВС	AB	ВС							
Semester: 6 HIMANSHU SANDEEP GAIKWAD	АВ	AB	AB	BB	ВС	BB	AB	ВВ							
U19CH066         24.00         24.00         8.46         8.38           Semester         Student Name         Course Course	de HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH368 T	CH322 T							
Cre		4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Reg- Earn- SGPA CGPA Number Credit Credit	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	WASTE TO ENERGY CONVERSIO N (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
Semester: 6 DEEPAK KUMAR KHARRA	вс	СС	DD	вс	ВС	ВС	BB	ВВ							
U19CH067         24.00         24.00         6.96         7.70           Semester         Student Name         Course Course	de HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	ME362 T	CH324 T							
Cre		4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Reg- Earn- SGPA CGPA Number Credit Credit	PROFESSION NALETHICS, ECONOMICS & MANAGEMENT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS	PROCESS	PROCESS	CORROSION ENGINEERI NG (EIS-II)	UNIT							
Semester: 6 MUTHIYA AADIL A VAHID  U19CH068	ВС	ВС	СС	СС	ВС	DD	ВВ	СС							
Semester: 6 MANKALA PRADEEP YADAV  U19CH069   24.00   24.00   6.46   6.81	ВС	ВС	BB	ВС	СС	СС	ВС	DD							
Semester :         6 DHARAVATH NIRMAL           U19CH070         24.00         20.00         6.13         7.01	ВВ	FF	ВВ	ВС	ВС	CC	AB	ВС							BACKLOG: 4 CREDIT(S)

Ichchhanath, Surat-395007 (Gujarat), India

				1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name		Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH322 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credi	SGPA	CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
Semester :	6 PANCHAL MANISHKU	IMAR SURES	БНВНАІ	۸D	ΛD	^^	AA	ΛD	P.C	DC.	BB							
U19CH071	24.00   24.0	00   8.50	8.43	AB	AB	AA	AA	AB	BC	BC	66							
Semester	Student Name		Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CE376 T	CH324 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credi		CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	WASTE TO ENERGY TECHNOLO GY (EIS-II)	UNIT PROCESSES (CS-II)							
Semester :	6 NISHANT KUMAR				_				_	_								
U19CH072	24.00   24.0	00   7.54	7.91	AB	ВС	AB	BC	BC	BC	BC	BB							
Semester	Student Name		Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH322 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credi	SGPA	CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
Semester :	6 RONAK MARU																	
U19CH073	24.00   24.0	00   9.04	8.61	AA	AB	AA	AB	AB	BB	AA	BB							
Semester	Student Name	-	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	ME376 T	CH324 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credi	SUIPA	CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	MATERIALS MANAGEME NT (EIS-II)	UNIT PROCESSES (CS-II)							
Semester : U19CH074	6 AKSHAY GOYAL 24.00   24.0	00   8.00	7.64	АВ	ВС	BB	ВВ	ВС	СС	AA	АВ							

Ichchhanath, Surat-395007 (Gujarat), India

					1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name		Со	urse Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH322 T	-						
				Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	_	arn- redit	SGPA	CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
Semester :	6 DESAI KEVINKUM	1AR GHAI	NSHYAMB	BHAI				4.5				4 D							
U19CH075	24.00   2	24.00	8.67	8.88	BB	AA	BB	AB	AB	BB	BB	AB							
Semester	Student Name			urse Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH368 T	CH322 T							
				Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	_	arn- redit	SGPA	CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	WASTE TO ENERGY CONVERSIO N (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
Semester:	6 ZEELKUMAR PATE	ĒL			BB	AB	BB	BB	BB	BB	AB	BB							
U19CH076	24.00   2	24.00	8.29	8.43	00	70	DD	55	55		70								
Semester	Student Name		Co	urse Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH322 T							
				Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Ea Credit Ci	arn- redit	SGPA	CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
Semester :	6 PATEL RONIT ASH	НОКВНАІ	[				4.0	DD	DD.	DD.	00	AB							
U19CH077	24.00   2	24.00	8.42	8.41	AB	AA	AB	BB	BB	BB	CC	AD							
Semester : U19CH078	6 PRANJAL MAHESH	HWARI		9.43	AA	AA	AB	AA	AA	ВВ	AA	AA							
Semester : U19CH080	6 PATEL PRINCE HI			8.61	AB	AB	ВС	AA	AA	ВВ	BB	ВВ							
Semester	Student Name			urse Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CS362 T	CH324 T							
				Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Ea Credit Ci	arn- redit	SGPA	CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	CRYPTOGRA PHY(EIS-II)	UNIT PROCESSES (CS-II)							
Semester : U19CH081	6 ARNAV GUPTA 24.00   2	21.00	6.13	7.99	ВС	ВВ	AB	вс	ВВ	СС	FF	СС							BACKLOG: 3 CREDIT(S)

Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	ME362 T	CH324 T		10		12	13		Remark
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	CORROSION ENGINEERI NG (EIS-II)	UNIT PROCESSES (CS-II)							
Semester:	6 RAVI KANUBHAI KHAGAD		BB	CD	BB	BB	BB	BC	BB	BB							
U19CH082	24.00   24.00	7.33   7.23	ВВ	CD	66		ВВ	ВС	ВВ								
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CE364 T	CH324 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	AIR POLLUTION AND CONTROL (EIS-II)	UNIT PROCESSES (CS-II)							
Semester :	6 SHREYA PATEL		INI														
U19CH083	24.00   24.00	7.21 7.86	AB	ВС	CD	CC	BC	BC	BC	BB							
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH322 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
Semester :	6 AAYUSH SETHIYA																
U19CH085	24.00   24.00	8.71   8.80	AB	AB	AA	AB	BB	BB	AB	BB							
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	ME376 T	CH324 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	MATERIALS MANAGEME NT (EIS-II)	UNIT PROCESSES (CS-II)							
Semester : U19CH086	6 KARTIK SAMYAL   24.00   24.00	7.75 7.64	ВВ	ВВ	BB	ВВ	АВ	ВС	ВВ	ВС							

Ichchhanath, Surat-395007 (Gujarat), India

					1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Nam	ie	(	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH324 T							
				Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission	Reg-	Earn-	SGPA	CGPA	PROFESSIO	INSTRUMEN	INSTRUMEN	PROCESS	PROCESS	PROCESS	PETROLEUM	UNIT							
Number	Credit	Credit			NAL ETHICS,	TATION AND PROCESS	TATION AND PROCESS	EQUIPMENT DESIGN	EQUIPMENT DESIGN	MODELLING AND	REFINERY ENGINEERI	PROCESSES (CS-II)							
					ECONOMIC	CONTROL	CONTROL	AND	AND		NG (EIS-II)	(65 11)							
					S & MANAGEME		(PRAC.)	DRAWING	DRAWING (PRAC.)	S									
					NT				(FRAC.)										
Semester :	6 KHUSHVENDRA	A PANKAJ			BB	AA	AA	AB	AA	ВС	СС	BB							
U19CH087	7   24.00	24.00	8.25	8.04	66		_ ^^	Λυ	_ ^^	ВС									
Semester :	6 JAYANT PARMA	AR		•	A D	AD	BB	A D		DC	DD	BB							
U19CH088	8   24.00	24.00	8.42	8.49	AB	AB	ВВ	AB	AA	BC	BB	DD							
	6 ANIRUDH RAJE			•				4.0				DD							
U19CH090	0   24.00	24.00	8.88	8.70	AA	AA	AA	AB	AA	BB	BC	BB							
Semester	Student Nam			Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	EC364 T	CH322 T							
				Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission	Reg-	Earn-	SGPA	CGPA	PROFESSIO	INSTRUMEN	INSTRUMEN	PROCESS	PROCESS	PROCESS	COMPUTER	POLYMER							
Number	Credit	Credit			NAL ETHICS,	TATION AND PROCESS	TATION AND PROCESS	EQUIPMENT DESIGN	EQUIPMENT DESIGN	MODELLING AND	VISION (EIS-II)	ENGINEERI NG (CS-II)							
					ECONOMIC	CONTROL	CONTROL	AND	AND	SIMULATION	(210 11)								
					S & MANAGEME		(PRAC.)	DRAWING	DRAWING (PRAC.)	S									
					NT				(110.01)										
Semester :	6 RAGHAV KHAN	IDELWAL			AB	BB	ВС	BB	BB	BB	BB	BB							
U19CH09 <sup>2</sup>	1 24.00	24.00	8.13	8.70	, , , ,														
Semester	Student Nam	ie	C	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	HU362 T	CH322 T							
				Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Credit	Earn- Credit	SGPA	CGPA	PROFESSIO NAL	INSTRUMEN TATION AND		PROCESS EQUIPMENT	PROCESS EQUIPMENT	PROCESS MODELLING	PERSONNEL MANAGEME	POLYMER ENGINEERI							
, ramse.	0.00.0	0. 00.0			ETHICS,	PROCESS	PROCESS	DESIGN	DESIGN	AND	NT (EIS-II)	NG (CS-II)							
					ECONOMIC S &	CONTROL	CONTROL (PRAC.)	AND DRAWING	AND DRAWING	SIMULATION S									
					MANAGEME		(11010.)	Divivino	(PRAC.)										
Somostor :	6 ARCHIT SONI				NT														
					AA	AB	CC	BB	BB	ВС	AB	BB							
U19CH092	2 24.00 Student Nam	24.00		•	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CE378 T	CH322 T							
Semester	Student Nam	ie	(	Course Code Credit															
Admission	Reg-	Earn-			4.00 PROFESSIO	4.00 INSTRUMEN	1.00 INSTRUMEN	4.00 PROCESS	1.00 PROCESS	4.00 PROCESS	3.00 DISASTER	3.00 POLYMER							
Number	Credit		SGPA	CGPA	NAL	TATION AND	TATION AND	EQUIPMENT	EQUIPMENT	MODELLING	MANAGEME	ENGINEERI							
					ETHICS, ECONOMIC	PROCESS CONTROL	PROCESS CONTROL	DESIGN AND	DESIGN AND	AND SIMULATION	NT (EIS-II)	NG (CS-II)							
					S &	CONTROL	(PRAC.)	DRAWING	DRAWING	S									
					MANAGEME NT				(PRAC.)										
Semester :	6 TANISHA GUPT	ГА										4.5							
U19CH093	3   24 nn	24.00	8 70	871	AA	BB	BB	AB	AB	BB	AB	AB							
5 1351103		+.55	3.73	1 0.7 1	I	I	1	I	l	1	1	1			I .	I	I	I .	

Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH324 T		10		12	13		Remark
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	UNIT PROCESSES (CS-II)							
Semester :	6 RAHIL PACHAURI		ΛD	٨٥	DD	۸D	A D	DC.	DD	BB							
U19CH094	24.00   24.00	8.38   8.17	AB	AB	BB	AB	AB	BC	BB	DD							
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	MA362 T	CH324 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	INTEGRAL AND WAVELET TRANSFORM (EIS-II)	UNIT PROCESSES (CS-II)							
Semester :	6 PRADIPSINH GOHIL		INI														
U19CH095	24.00   24.00	7.50   7.75	BB	BB	AB	BB	AB	CC	CC	BB							
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH324 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	UNIT PROCESSES (CS-II)							
Semester :	6 KETAN BHARGAVA			_													
U19CH097	24.00   24.00	6.96   8.15	BB	ВС	BC	BB	BB	CC	CC	CC							
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH322 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
Semester :	6 SHUBHAM VAISHNAV		AB	BB	AA	BB	AB	BB	AB	BB							
U19CH098	24.00   24.00	8.42 8.53	<u>-</u>			_											

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III SIXTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING APRIL/MAY 2022

				1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	(	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH324 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	UNIT PROCESSES (CS-II)							
Semester :	6 AAYUSH SINGH			4.0	DD.	DD.	DD	DD	00	D0	DD							
U19CH099	24.00   24.00	7.71	8.15	AB	BB	BB	BB	BB	CC	BC	BB							
Semester	Student Name	•	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CE376 T	CH324 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	WASTE TO ENERGY TECHNOLO GY (EIS-II)	UNIT PROCESSES (CS-II)							
Semester :	6 SUTHAR DIVYANG RASI	KBHAI					20				DD							
U19CH100	24.00   24.00	6.58	7.26	BC	CC	CD	BB	AB	CC	BB	DD							
Semester	Student Name	•	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH324 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	UNIT PROCESSES (CS-II)							
Semester :	6 BARIYA AKSHITKUMAR	DILIPBHA	ΛI															
U19CH101	24.00   24.00	8.29	8.42	AB	AB	BB	AB	AB	BB	CC	BB							
Semester	Student Name	•	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	ME376 T	CH324 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN	INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	MATERIALS MANAGEME NT (EIS-II)	UNIT PROCESSES (CS-II)							
Semester :	6 RASHI SHARMA			AB	AB	CD	BB	ВВ	ВС	AB	BB							
U19CH102	24.00   24.00	8.17	7.64	, \0	, (0					,,,,								

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III SIXTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING APRIL/MAY 2022

			1	2	3	4	5	6	7	8	9	10	11	12	13	14 Re	emark
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH322 T	9	10	11	12	13	14 100	emark
Semester	Student Name	Credit								3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT		I.00 INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
Semester: 6	TONDOMKER DIMPLE	8.13   8.11	AB	ВВ	ВВ	ВВ	AA	ВВ	CC	AB							
	5 GUNDALA LAKSHMI NAR	SIMHA	ВВ	AB	ВВ	AB	AA	ВС	CC	BB							
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	MA362 T	CH324 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN	INSTRUMEN	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND	INTEGRAL AND WAVELET TRANSFORM (EIS-II)	UNIT PROCESSES (CS-II)							
Semester: 6	NIDAMANURU DINESH K	UMAR														ВАСК	LOG:
U19CH105	24.00   21.00	6.71   7.76	AB	BB	ВС	BB	BB	BC	FF	CC						3 CRED	IT(S)
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH322 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL	1	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
Semester: 6	5 ANGAD SHRINIVAS DESH		AA	BB	AA	AB	AB	AB	AA	BB							
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CE376 T	CH324 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL		PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	WASTE TO ENERGY TECHNOLO	UNIT PROCESSES (CS-II)							
Semester: 6	SHIVAM SINGH THAKUR		AB	AB	BB	BB	BB	ВВ	FF	ВС						3	CLOG:

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III SIXTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING APRIL/MAY 2022

			П														
			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH366 T	CH322 T					1	·	
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT	INSTRUMEN TATION AND PROCESS CONTROL		PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	PETROLEUM REFINERY ENGINEERI NG (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
Semester : U19CH108	6 SRUSHTI DURYODHAN J		ВВ	AB	AB	AB	AA	ВВ	ВВ	BB							
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CH368 T	CH322 T	<u> </u>			+	†	1	
Serricatel	Stadent Name	Course Code Credit									'	<del>                                     </del>	+	+		1	
A design in	D	creait	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00				+	+ +	1	
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT		INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	WASTE TO ENERGY CONVERSIO N (EIS-II)	POLYMER ENGINEERI NG (CS-II)							
	6 PRANAV DHERANGE		AB	ВВ	ВС	ВВ	ВВ	ВС	ВВ	ВВ							
U19CH109		· · · · · · · · · · · · · · · · · · ·	#									<u></u>			1	1	
Semester	Student Name	Course Code	HU302 T	CH302 T	CH302 P	CH304 T	CH304 P	CH306 T	CE376 T	CH324 T				1	1		
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	3.00	3.00					<u> </u>		
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	PROFESSIO NAL ETHICS, ECONOMIC S & MANAGEME NT		INSTRUMEN TATION AND PROCESS CONTROL (PRAC.)	PROCESS EQUIPMENT DESIGN AND DRAWING	PROCESS EQUIPMENT DESIGN AND DRAWING (PRAC.)	PROCESS MODELLING AND SIMULATION S	WASTE TO ENERGY TECHNOLO GY (EIS-II)	UNIT PROCESSES (CS-II)							
Semester : U19CH110	6 PALSETKAR NIDHIPKUM BHUPENDRABHAI 0   24.00   21.00		ВВ	ВС	ВС	ВС	ВВ	ВС	ВВ	FF							BACKLOG: 3 CREDIT(S)

Total Student Count: 104